codeSystemVersion="G. k. 4. r. 10. 2a”>

r.9.2a">

displayName="parentRouteOfAdministration”/>
14”7 codeSystemVersion="G. k. 4.r.11.2a">

#1-2 —>

codeSystemVersion="G. k. 4. r. 10. 2a”>

r.9.2a">

J-— Gk 4r.
- Gk 4.

10.2a: Route of Administration TermID Version Date / Number #1-2 ——>
10.2b: Route of Administration TermID #1-2 ——>

<originalText>G. k. 4.r. 10. 1</originalText>

- G k4.

</routeCode>

10.1: Route of Administration (free text) #1-2 ——>

<doseQuantity value="10" unit="G.k.4.r.1b"/>
<{I-= G.k.4.r.1a Dose (number) #1-2 -—>

<I== G.k.4.1.1b:

Dose (unit) #1-2 ——>

<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</1otNumberText>

<A

G.k.4.1.7: Batch / Lot Number #1-2 —>

</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4

{!— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-2

{I— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-2 —>
<originalText>G.k.4.r.9. 1</originalText>
{I— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-2 —>

{/formCode>
</kindOfProduct>
{/instance0fKind>

{/consumable>

<inboundRelationship typeCode="REFR”>

{observation

classCode="0BS” moodCode="EVN">

<code code="28" codeSystem="2.16. 840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1.

<=

I

G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number

G.k.4.r.11.2b: Parent Route of Administration TermID #1-2 ——>

<originalText>G. k. 4. r.11. 1</originalText>

<=
{/value>

G.k.4.1.11. 1: Parent Route of Administration (free text) #1-2 ——>

{/observation>
</inboundRelationship>
{/substanceAdministration>

</outboundRelationship2>

<outboundRelationship2 typeCode="COMP”>

{!-= G.k.4.r: Dosage

and Relevant Information (repeat as necessary) #1-3 ——>

{substanceAdministration classCode="SBADM” moodCode="EVN">

{text>G. k. 4. 1. 8<

/text>

<!-= G.k.4.r.8: Dosage Text #1-3 ——>
<effectiveTime xsi:type="SXPR TS”>
<comp xsi:type="PIVL_TS”>
<period value="10" unit="G.k.4.r.3"/>

- G.k
== G.k
</comp>

.4.1.2: Number of Units in the Interval #1-3 ——>
.4.1.3: Definition of the Time Interval Unit #1-3 ——>

<comp xsi:type="IVL TS” operator="A">
{Jow value="20090101"/>

=Gk

.4.r.4: Date and Time of Start of Drug #1-3 ——>

<width value="4" unit="G.k.4.r.6b"/>

<l— G.k.4.r.6a: Duration of Drug Administration (number) #1-3 —>
<{l— G.k.4.r.6b: Duration of Drug Administration (unit) #1-3 —>
</comp>

{/effectiveTime>
{routeCode code=

“G. k. 4.1.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14”

{!=— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-3 —>
{!=— G.k.4.1.10.2b: Route of Administration TermID #1-3 —>
<originalText>G. k. 4. r. 10. 1</originalText>
<!— G.k.4.71.10.1: Route of Administration (free text) #1-3 —>

{/routeCode>

<{doseQuantity va

lue="10" unit="G. k. 4.r.1b"/>

<!— G.k.4.r. la Dose (number) #1-3 —>

{I— G k. 4.r. 1b:

Dose (unit) #1-3 —>

<consumable typeCode="CSM">

{instance0OfK
<{product

ind classCode="TNST”>
Instancelnstance classCode="MMAT” determinerCode="INSTANCE”>

{lotNumberText>G. k. 4. r. 7</lotNumberText>

I
</produc

G.k.4.r.7: Batch / Lot Number #1-3 —>
tlnstancelnstance>

<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.1.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4

<{!-= G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-3

{I-—= G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-3 ——>
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displayName="parentRouteOfAdministration”;>
14” codeSystemVersion="G.k.4.r.11.2a">

#1-3 —>

codeSystemVersion="G. k. 4. r. 10. 2a">

r.9.2a">

displayName="parentRouteOfAdministration”/>
14” codeSystemVersion="G.k.4.r.11.2a">

#1-4 —>

<originalText>G. k. 4.r.9.1<{/original Text>
{I—= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-3 —>
</formCode>
</kindOfProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1.
{!-= G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date , Number

{!-= G.k.4.r.11.2b: Parent Route of Administration TermID #1-3 ——>
<originalText>G.k.4.r.11.1</originalText>
{!~ G.k.4.r.11.1: Parent Route of Administration (free text) #1-3 —>
<’value>
{/observation>
{/inboundRelationship>
< substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{!=—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-4 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. . 8</text>
<!— G.k.4.r1.8: Dosage Text #1-4 —>
<effectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="PIVL_TS”>
<period value="10" unit="G.k.4.r.3"/>
<{J=— G.k.4.1.2: Number of Units in the Interval #1-4 —>
<!~ G.k.4.1.3: Definition of the Time Interval Unit #1-4 —>
<{/comp>
{comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/>
<l— G.k.4.r.6a: Duration of Drug Administration (number) #1-4 ——>
{!-= G.k.4.r.6b: Duration of Drug Administration (unit) #1-4 —>
<high value="20090101"/>
<{!-= G.k.4.r.5: Date and Time of Last Administration #1-4 ——>
<{/comp>
{feffectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2.16.840. 1. 113883.3.989.2.1.1. 14"

<{!-= G.k.4.r.10.2a: Route of Administration TermID Version Date / Number #1-4 —->
<{!-= G.k.4.1.10.2b: Route of Administration TermID #1-4 ——>
<originalText>G. k. 4. r. 10. 1</original Text>
{!== G.k.4.1.10.1: Route of Administration (free text) #1-4 ——>
</routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<I== G.k.4.1.1a Dose (number) #1-4 -->
<I-= G.k.4.r.1b: Dose (unit) #1-4 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
{productInstancelnstance classCode="MMAT” determinerCode="TNSTANCE”>
{lotNumberText>G. k. 4. r. 7</1otNumberText>
{I=— G.k.4.7.7: Batch / Lot Number #1-4 —>
<{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k. 4.

{!— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-4

{I— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-4 —>
<originalText>G. k. 4.r.9. 1</original Text>
<!== G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #l1-4 —>
{/formCode>
</kind0fProduct>
</instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2.16.840. 1. 113883. 3.989.2.1.1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1.
{l-= G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number

{!-= G.k.4.1.11. 2b: Parent Route of Administration TermID #1-4 ——>
<originalText>G. k. 4. r.11.1</originalText>
{!-= G.k.4.1.11. 1: Parent Route of Administration (free text) #1-4 ——>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
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</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{!== G.k.4.1: Dosage and Relevant Information (repeat as necessary) #1-5 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<l G.k.4.71.8: Dosage Text #1-5 —>
<effectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="IVL_TS”>
<low value="20090101"/>
<I-— G.k.4.1.4: Date and Time of Start of Drug #1-5 ——>
<high value="20090101"/>
<!~ G.k.4.1.5: Date and Time of Last Administration #1-5 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/>
<l— G.k.4.r.6a: Duration of Drug Administration (number) #1-5 —>
{l— G.k.4.r.6b: Duration of Drug Administration (unit) #1-5 —>
</comp>
{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14”
codeSystemVersion="G. k. 4. r. 10. 2a”>
{!=— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-5 —>
{!— G.k.4.1.10.2b: Route of Administration TermID #1-5 —>
<originalText>G. k. 4.r. 10. 1</originalText>
<!== G.k.4.71.10.1: Route of Administration (free text) #1-5 ——>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<l-= G.k.4.r.la Dose (number) #1-5 ——>
{I— G.k.4.r.1b: Dose (unit) #1-5 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
<{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{I-= G.k.4.1.7: Batch / Lot Number #1-5 —>
<{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4.
r.9.2a">
<{!-= G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-5

(== G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-5 ——>
<originalText>G.k.4.r.9.1<{/originalText>
<I== G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-5 ——>
{/formCode>
</kindOfProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”; >
<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.
14”7 codeSystemVersion="G. k. 4. r.11.2a">
{I~ G.k.4.r.11.2a: Parent Route of Administration TermID Version Date ; Number
#1-5 —>
{!== G.k.4.r.11.2b: Parent Route of Administration TermID #1-5 —>
<originalText>G. k. 4.r.11. 1<{/originalText>
{!== G.k.4.r.11. 1: Parent Route of Administration (free text) #1-5 —>
{/value>
{/observation>
</inboundRelationship>
< substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<!=—— G.k.4.1: Dosage and Relevant Information (repeat as necessary) #1-6 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. 1. 8<{/text>
<I-— G.k.4.1.8: Dosage Text #1-6 —>
{effectiveTime xsi:type="SXPR TS”>
<comp xsi:type="PIVL_TS”>
<period value="10" unit="G.k.4.r.3"/>
{l=— G.k.4.1.2: Number of Units in the Interval #1-6 —>
{]=— G.k.4.1.3: Definition of the Time Interval Unit #1-6 —>
<{/comp>
{comp xsi:type="1VL TS” operator="A">
<low value="20090101"/>
{!-= G.k.4.r.4: Date and Time of Start of Drug #1-6 —>
<width value="4" unit="G.k.4.r.6b"/>
<l— G.k.4.r.6a: Duration of Drug Administration (number) #1-6 ——>
<l== G.k.4.r.6b: Duration of Drug Administration (unit) #1-6 ——>
</comp>
<{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
<! G.k.4.r.5: Date and Time of Last Administration #1-6 ——>
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codeSystemVersion="G. k. 4. r. 10. 2a”>

r.9.2a">

displayName="parentRouteOfAdministration”/>
14”7 codeSystemVersion="G. k. 4.r. 11.2a">

#1-6 —>

codeSystemVersion="G. k. 4. r. 10. 2a”>

r.9.2a">

</comp>
{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14"

<{!-= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-6 —->
{!-= G.k.4.1.10.2b: Route of Administration TermID #1-6 ——>
<originalText>G. k. 4. r.10. 1</originalText>
<!== G.k.4.1.10.1: Route of Administration (free text) #1-6 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
<{I-= G.k.4.r.1a Dose (number) #1-1 ——>
<!~ G.k.4.r.1b: Dose (unit) #1-1 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{I~~ G.k.4.v.7: Batch / Lot Number #1-1 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4.

{!— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-6

{I— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #1-6 —>
<originalText>G. k. 4.r.9.1<{/originalText>
{I— G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #1-6 —>
</formCode>
</kindOfProduct>
{/instanceOfKind>
{/consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16. 840. 1. 113883. 3. 989.2. 1. 1.
{!-= G.k.4.r.11.2a: Parent Route of Administration TermID Version Date / Number

{!-= G.k.4.r.11. 2b: Parent Route of Administration TermID #1-6 ——>
<originalText>G. k. 4. r.11. 1</originalText>
{I-= G.k.4.r.11. 1: Parent Route of Administration (free text) #1-6 ——>
{/value>
{/observation>
</inboundRelationship>
<. substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
{!-= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #1-7 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text Gl k. 4. 1. 8</text>
<!-= G.k.4.r.8: Dosage Text #1-7 ——>
<effectiveTime xsi:type="SXPR TS”>
<comp xsi:type="IVL_TS”>
{Jow value="20090101";>
{l— G.k.4.r.4: Date and Time of Start of Drug #1-7 —>
<width value="4" unit="G.k.4.r.6b"/>
{l— G.k.4.r.6a: Duration of Drug Administration (number) #1-7 —>
<l— G.k.4.r.6b: Duration of Drug Administration (unit) #1-7 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
{]=— G.k.4.r.5: Date and Time of Last Administration #1-7 —>
</comp>
{/effectiveTime>
<routeCode code="G.k.4.1.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14”

{!=— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #1-7 —>
{!=— G.k.4.1.10.2b: Route of Administration TermID #1-7 —>
<originalText>G. k. 4. r. 10. 1</originalText>
<!== G.k.4.1.10.1: Route of Administration (free text) #1-7 ——>
<{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<l-= G.k.4.r.1a Dose (number) #1-7 ——>
<!-— G.k.4.r.1b: Dose (unit) #1-7 —>
{consumable typeCode="CSM">
{instanceOfKind classCode="INST">
<productInstanceInstance classCode="MMAT” determinerCode="TNSTANCE”>
{lotNumberText>G. k. 4. r. 7</1otNumberText>
{I-= G.k.4.1.7: Batch / Lot Number #1-7 ——>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.1.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k. 4.

{!== G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #1-7
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{I-= G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #1-7 ——>
<originalText>G. k. 4. 1.9. 1</originalText>
<!== G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #1-7 ——>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883. 3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”; >
<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2.16.840. 1. 113883. 3. 989.2. 1. 1.
14" codeSystemVersion="G. k. 4.r. 11.2a">
{!-= G.k.4.7r.11.2a: Parent Route of Administration TermID Version Date ; Number
#1-7 —>
<!~ G.k.4.r.11.2b: Parent Route of Administration TermID #1-7 —>
<originalText>G. k. 4.r.11.1</originalText>
{!== G.k.4.r.11. 1: Parent Route of Administration (free text) #1-7 —>
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="SUMM">
{observation classCode="0BS” moodCode="EVN">
<code code="14" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="cumulativeDoseToReaction”/>
<value xsi:type="PQ” value="10" unit="G.k.5b” >
<l-= G.k.5a: Cumulative Dose to First Reaction (number) #1 ——>
<l-= G.k.5b: Cumulative Dose to First Reaction (unit) #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
{code code="16" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="gestationPeriod”/>
<yalue xsi:type="PQ” value="10" unit="G.k.6b” >
<{l-- G.k.6a: Gestation Period at Time of Exposure (number) #1 ——>
(== G.k.6b: Gestation Period at Time of Exposure (unit) #1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="recurranceOfReaction”;>
<value xsi:type="CE” code="G.k.9.1i.4” codeSystem="2.16.840. 1.113883.3.989.2.1.1.16”
codeSystemVersion="2.0"/>
<{l— G.k.9.1.4: Did Reaction Recur on Re—administration? Drug #1, Reaction #1 —>
<outboundRelationshipl typeCode="REFR”>
<actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45F2-a02f-42d4d6F4657F" />
{/actReference>
{/outboundRelationshipl>
<. observation»>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="recurranceOfReaction” />
<value xsiitype="CE” code="G.k.9.1i.4” codeSystem="2.16.840. 1.113883.3.989.2.1.1.16”
codeSystemVersion="2.0"/>
<!l— G.k.9.1.4: Did Reaction Recur on Re—administration? Drug #1, Reaction #2 —>
<outboundRelationshipl typeCode="REFR”>
{actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220" />
{/actReference>
</outboundRelationshipl>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code="9” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="codedDrugInformation”/>
<value xsi:type="CE” code="G.k.10.1” codeSystem="2.16.840. 1. 113883.3.989.2.1. 1. 17"
codeSystemVersion="2.0"/>
<l-= G.k.10.r: Additional Information on Drug (coded) (repeat as necessary) #1-1 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<{code code="9” codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1. 19” codeSystemVersion="1.1"
displayName="codedDrugInformation”;>
<yvalue xsi:type="CE” code="G.k.10.r” codeSystem="2.16.840.1.113883.3.989.2.1.1.17”
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codeSystemVersion="2.0"/>

displayName="additional Information”/>

displayName="indication”/>

7G.k.7.1.2a">

displayName="sourceReporter”/>

displayName="indication”/>

“G.k.7.1.2a">

displayName="sourceReporter”/>

<l-—= G.k.10.r: Additional Information on Drug (coded) (repeat as necessary) #1-2 ——>
<. observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"

<value xsi:itype="ST”>G. k. 11</value>
<l=—= G.k.11: Additional Information on Drug (free text) #1 ——>
<. observation>
</outboundRelationship2>
<inboundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
{code code="19" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1"

{value xsi:type="CE” code="G.k.7.r.2b” codeSystem="2.16.840. 1. 113883.6. 163" codeSystemVersion=

{!=— G.k.7.r.2a: MedDRA Version for Indication #1-1 —>
(I~ G.k.7.r.2b: Tndication (MedDRA code) #1-1 —>
<originalText>G. k. 7.r. 1</original Text>
¢{!== G.k.7.r.1: Indication as Reported by the Primary Source #1-1 —>
<{/value>
<performer typeCode="PRF”">
<assignedEntity classCode="ASSIGNED”>
<code code="3" codeSystem="2.16.840. 1. 113883. 3.989.2.1.1.21” codeSystemVersion="1.0"

{/assignedEntity>
</performer>
{/observation>
</inboundRelationship>
<inboundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
{code code="19" codeSystem="2. 16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.7.r.2b” codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion=

<{!-= G.k.7.r.2a: MedDRA Version for Indication #1-2 —>
{!-= G.k.7.r.2b: Indication (MedDRA code) #1-2 —>
<originalText>G. k. 7.r. 1<{/original Text>
<!== G.k.7.r.1: Indication as Reported by the Primary Source #1-2 ——>
</value>
<performer typeCode="PRF">
{assignedEntity classCode="ASSIGNED”>
<code code="3" codeSystem="2.16.840. 1. 113883. 3.989. 2.1.1.21” codeSystemVersion="1.0"

{/assignedEntity>
</performer>
<. observation»>
</inboundRelationship>
<inboundRelationship typeCode="CAUS”>
{act classCode="ACT” moodCode="EVN">
<code code="G.k.8” codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1.15” codeSystemVersion="2.0",/>
{!-= G.k.8: Action(s) Taken with Drug #1 ——>
< act>
</inboundRelationship>

{/substanceAdministration>
</component>
<!-= G.k Drug(s) Information (repeat as necessary) #2 —>
<component typeCode="COMP”>

{substanceAdministration classCode="SBADM” moodCode="EVN">

<id root="68d6f5ce-3b3b-45c7-92dd-69e06730c3a9” />
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
<code code="G.k.2.1.2b” codeSystem="TBD-PhPID” codeSystemVersion="G.k.2.1.2a"/>
{!=— G.k.2.1.2a: PhPID Version Date / Number #2 —>
<!— G.k.2.1.2b: Pharmaceutical Product Identifier (PhPID) #2 —>
<name>G. k. 2. 2</name>
<!— G.k.2.2: Medicinal Product Name as Reported by the Primary Source #2 —>
{asManufacturedProduct classCode="MANU">
{subjectOf typeCode="SBJ”>
<approval classCode="CNTRCT” moodCode="EVN">

<id extension="G.k.3.1” root="2. 16.840. 1. 113883. 3. 989.2.1.3.4"/>

<{!=— G.k.3.1: Authorisation / Application Number #2 —>

<holder typeCode="HLD">

<role classCode="HLD">
<playingOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>G. k. 3. 3</name>
<]-= G.k.3.3: Name of Holder / Applicant #2 ——>
</playingOrganization>
{/role>
</holder>
<author typeCode="AUT”>
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<territorialAuthority classCode="TERR”>
{territory classCode="NAT” determinerCode="INSTANCE">
<code code="G.k.3.2” codeSystem="1.0.3166.1.2.2",>

<l-- G.k.3.2: Country of Authorisation / Application #2 ——>
</territory>

{/territorialAuthority>
<;author>
<pertinentInformation typeCode="PERT”>
<policy classCode="POLICY” moodCode="EVN">
<code code="J2.5.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.4”
codeSystemVersion="1.1",>

I @0J2.5. k: —AXAIERELED Y 27 X5% 42—
</policy>

{/pertinentInformation>
{/approval>
</subjectOf>
{subjectOf typeCode="SBJ”>
{characteristic classCode="0BS” moodCode="EVN">

<code code="1" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.10”
codeSystemVersion="1.0" displayName="3411%E 3K DRI XSy />
<value xsi:itype="CE” code="]J2.4.k” codeSystem="2.16.840. 1. 113883. 3. 989.5. 1. 3.
2.1.3” codeSystemVersion="1.1"/>

A== 000]2. 4. k: BIEZEFEORIXS 2 —>
{/characteristic>
<{/subjectOf>
{/asManufacturedProduct>
dingredient classCode="ACTI”>
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
<]—— G.k.2.3.r.3a: Strength (number) #2-1 —>
<I== G.k.2.3.r.3b: Strength (unit) #2-1 —>
{denominator value="1"/>
</quantity>
{ingredientSubstance classCode="MMAT” determinerCode="KIND”>
{code code="G.k.2.3.1.2b” codeSystem="TBD-Substance” codeSystemVersion="G.k. 2. 3.r.
2a"/>

{]=— G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date / Number
#2-1 —>

{!-= G.k.2.3.r.2b Substance / Specified Substance TermID #2-1 ——>
<name>G. k. 2. 3. r. 1<{/name>

<{]-= G.k.2.3.r.1: Substance / Specified Substance Name #2-1 —>
</ingredientSubstance>
{/ingredient>
{ingredient classCode="ACT1”>
{quantity>
<numerator value="10" unit="G.k.2.3.r.3b"/>
{!-= G.k.2.3.r.3a: Strength (number) #2-2 -->
{I-= G.k.2.3.7.3b: Strength (unit) #2-2 ——>
<denominator value="1"/>
</quantity>
<ingredientSubstance classCode="MMAT” determinerCode="KIND">
{code code="G.k.2.3.1.2b" codeSystem="TBD-Substance” codeSystemVersion="G.k. 2. 3. 1.
2a”/>

<!~ G.k.2.3.r.2a: Substance / Specified Substance TermID Version Date/Number #2-
2 =

{!-= G.k.2.3.r.2b Substance / Specified Substance TermID #2-2 —>
<name>G. k. 2. 3. r. 1</name>

<]—— G.k.2.3.r.1: Substance ; Specified Substance Name #2-2 —>
</ingredientSubstance>

{/ingredient>
</kindOfProduct>
<subjectOf typeCode="SBJ">
<productEvent classCode="ACT” moodCode="EVN">

<code code="1" codeSystem="2.16. 840. 1. 113883. 3. 989. 2. 1. 1. 18” codeSystemVersion="1.0"
displayName="retailSupply”/>

<performer typeCode="PRF”>
<assignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="0ORG” determinerCode="INSTANCE”>

<addr>
<{country>G. k. 2. 4</country>
<l— G.k.2.4: Identification of the Country Where the Drug Was
Obtained #2 —>
<{/addr>
{/representedOrganization>
{/assignedEntity>
</performer>
{/productEvent>
<{/subject0f>

<subjectOf typeCode="SB]”>
{observationEvent classCode="0BS” moodCode="EVN">

<code code="2" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2. 1. 10” codeSystemVersion="1.
0” displayName="—ji% J EIE A D AFHEREE" />

<value xsi:type="CE” code="J2.6.k” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.5”
codeSystemVersion="1.1"/>
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Event (number) Drug #2, Reaction #1-—>

Event (unit) Drug #2, Reaction #1 ——>

Drug #2, Reaction #1 —>

Drug #2, Reaction #1 —>

Event (number) Drug #2, Reaction #2 ——>

Event (unit) Drug #2, Reaction #2 ——>

Drug #2, Reaction #2 -—>

Drug #2, Reaction #2 ——>

Event (number) Drug #2, Reaction #3 ——>

Event (unit) Drug #2, Reaction #3 ——>

Drug #2, Reaction #3 —>

Drug #2, Reaction #3 —>

Event (number) Drug #2, Reaction #4 —>

Event (unit) Drug #2, Reaction #4 ——>

Drug #2, Reaction #4 -—>

Drug #2, Reaction #4 -—>

<1-- 0@@J2. 6. k: —MHRIER DOAFHER #2

{/observationEvent>
{/subject0f>
{/instanceOfKind>
</consumable>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
{!-= G.k.9.i.3.1a: Time Interval between Beginning of

{!-= G.k.9.1i.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6f4657f" />
< actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
{!=— G.k.9.1i.3.2a: Time Interval between Last Dose of

<!~ G.k.9.i.3.2b: Time Interval between Last Dose of

{actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6F4657F" />
< actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<]—— G.k.9.1.3.1a: Time Interval between Beginning of

<]—— G.k.9.1.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220” />
{/actReference>
<{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
{l-= G.k.9.i.3.2a: Time Interval between Last Dose of

(!~ G.k.9.i.3.2b: Time Interval between Last Dose of

{actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
{!-= G.k.9.i.3.1a: Time Interval between Beginning of

{!-= G.k.9.i.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="3a8626cb-9f1b-4ea8-8a0f-e0ff34430adf” />
< actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
{!— G.k.9.i.3.2a: Time Interval between Last Dose of

<!~ G.k.9.i.3.2b: Time Interval between Last Dose of

{actReference classCode="0BS” moodCode="EVN">
<id root="3a8626ch-9f1b-4ea8-8a0f-e0ff34430adf” />
< actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<]—— G.k.9.1.3.1a: Time Interval between Beginning of

<]—— G.k.9.1.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="2e99840f-08b4-499c-80f f-dd8415f4f8a5” />
{/actReference>
<{/outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
{l-= G.k.9.1i.3.2a: Time Interval between Last Dose of

<{l-= G.k.9.1i.3.2b: Time Interval between Last Dose of
{actReference classCode="0BS” moodCode="EVN">

<id root="2e99840f-08b4-499c-80ff-dd8415f4f8a5",>
{/actReference>
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Event (number) Drug #2, Reaction #5 —>

Event (unit) Drug #2, Reaction #5 ——>

Drug #2, Reaction #5 ——>

Drug #2, Reaction #5 —>

Event (number) Drug #2, Reaction #6 ——>

Event (unit) Drug #2, Reaction #6 ——>

Drug #2, Reaction #6 ——>

Drug #2, Reaction #6 ——>

Event (number) Drug #2, Reaction #7 ——>

Event (unit) Drug #2, Reaction #7 ——>

Drug #2, Reaction #7 ——>

Drug #2, Reaction #7 —>

Event (number) Drug #2, Reaction #8 ——>

Event (unit) Drug #2, Reaction #8 ——>

Drug #2, Reaction #8 ——>

Drug #2, Reaction #8 —>

</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
<l-= G.k.9.i.3.1a: Time Interval between Beginning of

<]== G.k.9.1.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="1071064c-cf10-4a3b-83c1-34f9ddb7eabd” />
<, actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
{!~ G.k.9.i.3.2a: Time Interval between Last Dose of

(= G.k.9.1i.3.2b: Time Interval between Last Dose of

{actReference classCode="0BS” moodCode="EVN">
<id root="1071064c-cf10-4a3b-83c1-34f9ddb7eabd” >
< actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<]—— G.k.9.1.3.1a: Time Interval between Beginning of

<]—— G.k.9.1.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-e9256401b18F" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
<{!-= G.k.9.1.3.2a: Time Interval between Last Dose of

{l-= G.k.9.1.3.2b: Time Interval between Last Dose of

{actReference classCode="0BS” moodCode="EVN">
<id root="1f927283-10b6-4334-9d43-¢925640fb18f" />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1.3.1b"/>
<l-= G.k.9.i.3.1a: Time Interval between Beginning of

<]-= G.k.9.1.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f b6bb-celdbc279d8e” />
<, actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
{!~ G.k.9.i.3.2a: Time Interval between Last Dose of

{l= G.k.9.i.3.2b: Time Interval between Last Dose of

{actReference classCode="0BS” moodCode="EVN">
<id root="e0342969-38be-423f-b6bb-cel4bc279d8e” />
< actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAS”>
{pauseQuantity value="10" unit="G.k.9.1i.3.1b"/>
<{!-= G.k.9.i.3.1a: Time Interval between Beginning of

<]—— G.k.9.1.3.1b: Time Interval between Beginning of

{actReference classCode="0BS” moodCode="EVN">
<id root="al5be092-8070-426d-af04-6863263443e0” />
{/actReference>
</outboundRelationshipl>
<outboundRelationshipl typeCode="SAE”>
{pauseQuantity value="10" unit="G.k.9.1i.3.2b"/>
{!-~ G.k.9.i.3.2a: Time Interval between Last Dose of

{l-= G.k.9.1.3.2b: Time Interval between Last Dose of

{actReference classCode="0BS” moodCode="EVN">
<id root="al5be092-8070-426d-af04-6863263443e0” />
<. actReference>
</outboundRelationshipl>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
{code code="6"
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displayName="blinded”/>

codeSystemVersion="G. k. 4. r. 10. 2a”>

r.9.2a">

displayName="parentRouteOfAdministration”;>
14”7 codeSystemVersion="G. k. 4. r.11.2a">

#2-1 —>

codeSystemVersion="G. k. 4. r. 10. 2a”>

{value xsi:type="BL” value="true”/>
<l— G.k.2.5: Investigational Product Blinded #2 —>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
{!-= G.k.4.r : Dosage and Relevant Information (repeat as necessary) #2-1 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8</text>
<{I-= G.k.4.r.8: Dosage Text #2-1 ——>
<effectiveTime xsi:type="IVL_TS">
<{low value="20090101"/>
{!— G.k.4.r.4: Date and Time of Start of Drug #2-1 —>
<high value="20090101"/>
{!== G.k.4.r.5: Date and Time of Last Administration #2-1 -->
{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14”

{!— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-1 —>
(!~ G.k.4.1.10.2b: Route of Administration TermID #2-1 —>
<originalText>G. k. 4. r.10. 1</originalText>
{!=— G.k.4.1.10.1: Route of Administration (free text) #2-1 —>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
<l-= G.k.4.r.1a Dose (number) #2-1 ——>
<I-= G.k.4.r.1b: Dose (unit) #2-1 —>
<consumable typeCode="CSM”>
{instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
<l-= G.k.4.1.7: Batch / Lot Number #2-1 —>
<{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.1.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k. 4.

{!-= G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-1

(== G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-1 ——>
<originalText>G. k. 4.r.9.1<{/originalText>
<!=—— G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-1 —>
</formCode>
</kindOfProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1.
{!-= G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date , Number

{!-= G.k.4.1.11.2b: Parent Route of Administration TermID #2-1 ——>
<originalText>G. k. 4.r.11. 1<{/originalText>
{!-= G.k.4.r.11.1: Parent Route of Administration (free text) #2-1 ——>
{/value>
{/observation>
</inboundRelationship>
< substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{]—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-2 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<I— G.k.4.1.8: Dosage Text #2-2 —>
<effectiveTime xsi:type="IVL_TS">
<{low value="20090101"/>
<!— G.k.4.r.4: Date and Time of Start of Drug #2-2 —>
<width value="4" unit="G.k.4.r.6b"/>
<!— G.k.4.r.6a: Duration of Drug Administration (number) #2-2 —>
<!— G.k.4.r.6b: Duration of Drug Administration (unit) #2-2 —>
{/effectiveTime>
<routeCode code="G. k. 4.1.10.2b” codeSystem="2.16.840. 1. 113883.3.989.2.1.1. 14"

{!=— G.k.4.71.10.2a: Route of Administration TermlID Version Date / Number #2-2 —>
{!-= G.k.4.r.10.2b: Route of Administration TermID #2-2 -—>
<originalText>G. k. 4. r. 10. 1</originalText>
<!== G.k.4.1.10.1: Route of Administration (free text) #2-2 ——>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b”/>
<{I-= G.k.4.r.1la Dose (number) #2-2 -—>
{I-= G.k.4.r.1b: Dose (unit) #2-2 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST">
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r.9.2a">

displayName="parentRouteOfAdministration”;>
14" codeSystemVersion="G. k. 4. r. 11. 2a">

#2-2 —>

codeSystemVersion="G. k. 4. r. 10. 2a">

r.9.2a">

displayName="parentRouteOfAdministration”/>
14”7 codeSystemVersion="G. k. 4. r. 11.2a">

#2-3 —>

<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
== G.k.4.1.7: Batch / Lot Number #2-2 ——>

<{/productlInstancelnstance>

<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.1.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4.

<{!== G.k.4.71.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-2

{I== G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-2 ——>
<originalText>G. k. 4.1.9. 1</originalText>
<!~ G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-2 —>
</formCode>
<{/kindOfProduct>
{/instanceOfKind>
{/consumable>
{inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.
{!=— G.k.4.1.11.2a: Parent Route of Administration TermID Version Date / Number

<! G.k.4.71.11.2b: Parent Route of Administration TermID #2-2 —>
<originalText>G. k. 4.r.11.1</originalText>
<)== G.k.4.r.11.1: Parent Route of Administration (free text) #2-2 —>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<! G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-3 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
<{text>G. k. 4. r. 8</text>
{I-= G.k.4.r.8: Dosage Text #2-3 —>
<effectiveTime xsi:type="IVL_TS">
<width value="4" unit="G.k.4.r.6b"/>
¢!== G.k.4.r.6a: Duration of Drug Administration (number) #2-3 —>
<!=— G.k.4.r.6b: Duration of Drug Administration (unit) #2-3 —>
<high value="20090101"/>
{!-= G.k.4.r.5: Date and Time of Last Administration #2-3 ——>
{/effectiveTime>
<routeCode code="G.k.4.1.10.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14"

<{!-= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-3 —->
{!-= G.k.4.1.10.2b: Route of Administration TermID #2-3 -—>
<originalText>G. k. 4. r.10. 1</original Text>
<!== G.k.4.1.10.1: Route of Administration (free text) #2-3 ——>
</routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<I== G.k.4.1.1a Dose (number) #2-3 -—>
{I~ G.k.4.r.1b: Dose (unit) #2-3 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
{productInstancelnstance classCode="MMAT” determinerCode="TNSTANCE”>
{lotNumberText>G. k. 4. r. 7</1otNumberText>
{I=—= G.k.4.7.7: Batch / Lot Number #2-3 —>
<{/productInstanceInstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4.

{!— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-3

{I— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-3 —>
<originalText>G. k. 4.r.9. 1</original Text>
<!== G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-3 —>
{/formCode>
</kindOfProduct>
</instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
{code code="28" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1.
{l-= G.k.4.r.11. 2a: Parent Route of Administration TermID Version Date / Number
{!-= G.k.4.r.11. 2b: Parent Route of Administration TermlD #2-3 ——>
<originalText>G. k. 4. r.11.1<{/originalText>

{!-= G.k.4.1.11. 1: Parent Route of Administration (free text) #2-3 ——>
</value>
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codeSystemVersion="G. k. 4. r. 10. 2a”>

r.9.2a">

displayName="parentRouteOfAdministration”; >
14” codeSystemVersion="G.k.4.r.11.2a">

#2-4 —>

codeSystemVersion="G. k. 4. r. 10. 2a”>

{/observation>
</inboundRelationship>
<. substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{!== G.k.4.1: Dosage and Relevant Information (repeat as necessary) #2-4 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<l— G.k.4.71.8: Dosage Text #2-4 —>
<effectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="PIVL_TS”>
<period value="10" unit="G.k.4.r.3"/>
== G.k.4.1.2: Number of Units in the Interval #2-4 ——>
<!~ G.k.4.r.3: Definition of the Time Interval Unit #2-4 —>
</comp>
<comp xsi:type="IVL_TS” operator="A">
{Jow value="20090101";>
<l-= G.k.4.r.4: Date and Time of Start of Drug #2-4 ——>
</comp>
{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 14”

{!— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-4 —>
{!=— G.k.4.1.10.2b: Route of Administration TermID #2-4 —>
<originalText>G. k. 4. r.10. 1<{/originalText>
{!— G.k.4.1.10.1: Route of Administration (free text) #2-4 —>
</routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{I— G.k.4.r.1a Dose (number) #2-4 —>
<= G.k.4.r.1b: Dose (unit) #2-4 —>
<consumable typeCode="CSM">
{instance0OfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{!-= G.k.4.r.7: Batch / Lot Number #2-4 —>
<{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.1.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4.

<!~ G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-4

{I-= G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-4 ——>
<originalText>G. k. 4. 1.9. 1</original Text>
{I—= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-4 —>
</formCode>
</kindOfProduct>
</instance0fKind>
</consumable>
{inboundRelationship typeCode="REFR”>
<observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883. 3.989.2. 1. 1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1.
{!-= G.k.4.7r.11. 2a: Parent Route of Administration TermID Version Date ; Number

<!~ G.k.4.r.11.2b: Parent Route of Administration TermID #2-4 —>
<originalText>G. k. 4.r.11.1</originalText>
{!== G.k.4.r.11.1: Parent Route of Administration (free text) #2-4 —>
{/value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<!=—— G.k.4.1: Dosage and Relevant Information (repeat as necessary) #2-5 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. 1. 8</text>
<l-= G.k.4.r.8: Dosage Text #2-5 —>
{effectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="PIVL_TS”>
<period value="10" unit="G.k.4.r.3"/>
<= G.k.4.1.2: Number of Units in the Interval #2-5 —>
<{l== G.k.4.1r.3: Definition of the Time Interval Unit #2-5 ——>
<{/comp>
{comp xsi:type="IVL_TS” operator="A">
<high value="20090101"/>
<{I== G.k.4.r.5: Date and Time of Last Administration #2-5 -—>
<{/comp>
{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2.16.840. 1. 113883.3.989.2.1. 1. 14"

<{!-= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-5 —->
{!-= G.k.4.r.10.2b: Route of Administration TermID #2-5 ——>

- 38 -



r.9.2a">

displayName="parentRouteOfAdministration”/>
14”7 codeSystemVersion="G. k. 4.r.11.2a">

#2-5 —>

codeSystemVersion="G. k. 4. r. 10. 2a”>

r.9.2a">

<originalText>G. k. 4.r.10. 1</originalText>
<{!-= G.k.4.7r.10.1: Route of Administration (free text) #2-5 —->
</routeCode>
<{doseQuantity value="10" unit="G.k.4.r.1b"/>
<{I-= G.k.4.r.1a Dose (number) #2-5 ——>
{I-= G.k.4.r.1b: Dose (unit) #2-5 ——>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{I-= G.k.4.1.7: Batch / Lot Number #2-5 ——>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k. 4.

{!=— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-5

{I— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-5 —>
<originalText>G. k. 4.r.9. 1<{/originalText>
(I~ G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-5 —>
{/formCode>
</kindOfProduct>
{/instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1.
<! G.k.4.7r.11.2a: Parent Route of Administration TermID Version Date / Number

<{!-= G.k.4.r.11.2b: Parent Route of Administration TermID #2-5 —>
<originalText>G. k. 4. r.11. 1</originalText>
{!-— G.k.4.r.11.1: Parent Route of Administration (free text) #2-5 —>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{l-= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-6 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<!-= G.k.4.r.8: Dosage Text #2-6 ——>
<effectiveTime xsi:type="SXPR_TS”>
<comp xsi:type="PIVL_TS”>
<period value="10" unit="G.k.4.r.3"/>
<{l== G.k.4.r.2: Number of Units in the Interval #2-6 ——>
{l== G.k.4.1.3: Definition of the Time Interval Unit #2-6 -—>
</comp>
<comp xsi:type="IVL TS” operator="A">
<width value="4" unit="G.k.4.r.6b"/>
{l— G.k.4.r.6a: Duration of Drug Administration (number) #2-6 —>
{l-— G.k.4.r.6b: Duration of Drug Administration (unit) #2-6 ——>
</comp>
{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2. 16.840. 1. 113883. 3.989. 2. 1. 1. 14”

<!~ G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-6 ——>
{!=— G.k.4.1.10.2b: Route of Administration TermID #2-6 —>
<originalText>G. k. 4.r.10. 1<;originalText>
{!— G.k.4.1.10.1: Route of Administration (free text) #2-6 —>
{/routeCode>
<doseQuantity value="10" unit="G.k.4.r.1b"/>
{I— G.k.4.1.1a Dose (number) #2-6 —>
<= G.k.4.r.1b: Dose (unit) #2-6 —>
<consumable typeCode="CSM">
{instance0fKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</1otNumberText>
{!-= G.k.4.r.7: Batch / Lot Number #2-6 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4.

<!~ G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-6

{I-= G.k.4.r.9.2b: Pharmaceutical Dose Form TermID #2-6 ——>
<originalText>G. k. 4. 1.9. 1</original Text>
{I=—= G.k.4.1.9.1: Pharmaceutical Dose Form (free text) #2-6 —>
{/formCode>
</kindOfProduct>
{/instanceOfKind>
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displayName="parentRouteOfAdministration”;>
14”7 codeSystemVersion="G. k. 4. r.11.2a">

#2-6 —>

codeSystemVersion="G. k. 4. r. 10. 2a”>

r.9.2a">

displayName="parentRouteOfAdministration”/>
14" codeSystemVersion="G. k. 4. r. 11.2a">

#2-7 —>

codeSystemVersion="G. k. 4. r. 10. 2a”>

</consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1.
{!-= G.k.4.1.11. 2a: Parent Route of Administration TermID Version Date ; Number

{!-= G.k.4.1.11.2b: Parent Route of Administration TermlD #2-6 ——>
<originalText>G. k. 4.r.11. 1</originalText>
<!~ G.k.4.r.11.1: Parent Route of Administration (free text) #2-6 —>
</value>
{/observation>
</inboundRelationship>
< substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{]—— G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-7 —>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<{!-= G.k.4.r.8: Dosage Text #2-7 —>
<effectiveTime xsi:type="PIVL_TS”>
<period value="10" unit="G.k.4.r.3"/>
= G.k.4.1.2: Number of Units in the Interval #2-7 —>
{!— G.k.4.1.3: Definition of the Time Interval Unit #2-7 —>
{/effectiveTime>
<routeCode code="G.k.4.1.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14"

{!=— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-7 —>
<!—= G.k.4.r.10.2b: Route of Administration TermID #2-7 ——>
<originalText>G. k. 4. r. 10. 1</originalText>
<!== G.k.4.1.10.1: Route of Administration (free text) #2-7 ——>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
{I-= G.k.4.r.1la Dose (number) #2-7 -—>
<!-— G.k.4.r.1b: Dose (unit) #2-7 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST">
<{productInstanceInstance classCode="MMAT” determinerCode="TNSTANCE”>
{lotNumberText>G. k. 4. r. 7</1otNumberText>
{I-= G.k.4.1.7: Batch / Lot Number #2-7 ——>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.1.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4.

<{!== G.k.4.1.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-7

(I~ G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-7 —>
<originalText>G. k. 4.r.9. 1<{/original Text>
<!== G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-7 ——>
{/formCode>
</kindOfProduct>
{/instanceOfKind>
{/consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.
{I== G.k.4.r.11.2a: Parent Route of Administration TermID Version Date ; Number

<! G.k.4.r.11.2b: Parent Route of Administration TermID #2-7 —>
<originalText>G. k. 4.r.11.1<{/originalText>
{!== G.k.4.r.11. 1: Parent Route of Administration (free text) #2-7 —>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<!=—— G.k.4.1: Dosage and Relevant Information (repeat as necessary) #2-8 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<l-—= G.k.4.r.8: Dosage Text #2-8 —>
<effectiveTime xsi:type="IVL_TS”>
{low value="20090101"/>
{!— G.k.4.r.4: Date and Time of Start of Drug #2-8 —>
{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2.16.840. 1. 113883.3.989.2.1. 1. 14"

<{!-= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-8 —->
{!-= G.k.4.r.10.2b: Route of Administration TermID #2-8 ——>
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r.9.2a">

displayName="parentRouteOfAdministration”/>
14”7 codeSystemVersion="G. k. 4.r.11.2a">

#2-8 —>

codeSystemVersion="G. k. 4. r. 10. 2a”>

r.9.2a">

displayName="parentRouteOfAdministration”/>

14”7 codeSystemVersion="G.k.4.r.11.2a">

<originalText>G. k. 4.r.10. 1</originalText>
<{!-= G.k.4.7r.10.1: Route of Administration (free text) #2-8 ——>
</routeCode>
<{doseQuantity value="10" unit="G.k.4.r.1b"/>
<{I-= G.k.4.r.1a Dose (number) #2-8 ——>
{I-= G.k.4.r.1b: Dose (unit) #2-8 ——>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
{I-= G.k.4.1.7: Batch / Lot Number #2-8 ——>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G.k. 4.

{!=— G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-8

{I— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-8 —>
<originalText>G. k. 4.r.9. 1<{/originalText>
(I~ G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-8 —>
{/formCode>
</kindOfProduct>
{/instance0fKind>
{/consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3. 989.2. 1. 1.
<! G.k.4.7r.11.2a: Parent Route of Administration TermID Version Date / Number

{!-= G.k.4.r.11.2b: Parent Route of Administration TermID #2-8 —>
<originalText>G. k. 4. r.11. 1</originalText>
{!-— G.k.4.r.11.1: Parent Route of Administration (free text) #2-8 —»>
</value>
{/observation>
</inboundRelationship>
{/substanceAdministration>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
<{l-= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-9 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text>G. k. 4. r. 8</text>
<!-= G.k.4.r.8: Dosage Text #2-9 ——>
<effectiveTime xsi:type="IVL_TS">
<high value="20090101"/>
<{!-= G.k.4.r.5: Date and Time of Last Administration #2-9 -—>
{/effectiveTime>
<routeCode code="G.k. 4.r.10.2b” codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 14"

{!-= G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-9 —->
{!-= G.k.4.1.10.2b: Route of Administration TermID #2-9 -—>
<originalText>G. k. 4. r.10. 1<;originalText>
{!== G.k.4.1.10.1: Route of Administration (free text) #2-9 ——>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<{I— G.k.4.r.1a Dose (number) #2-9 —>
{I— G.k.4.r.1b: Dose (unit) #2-9 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
<productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</1otNumberText>
<l-= G.k.4.1.7: Batch / Lot Number #2-9 —>
</productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.1.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4.

<!~ G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-9

{I— G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-9 —>
<originalText>G. k. 4.r.9. 1</original Text>
<l—= G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-9 —>
{/formCode>
<{/kindOfProduct>
{/instanceOfKind>
{/consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"

<value xsi:type="CE” code="G.k.4.r.11.2b” codeSystem="2. 16.840. 1. 113883. 3.989.2. 1. 1.

{l-= G.k.4.r.11. 2a: Parent Route of Administration TermlD Version Date / Number
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#2-9 —>
{!-= G.k.4.r.11. 2b: Parent Route of Administration TermID #2-9 ——>
<originalText>G. k. 4.r. 11. 1<{/originalText>
{!-= G.k.4.r.11. 1: Parent Route of Administration (free text) #2-9 ——>
</value>
{/observation>
</inboundRelationship>
<. substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="COMP”>
{!-= G.k.4.r: Dosage and Relevant Information (repeat as necessary) #2-10 ——>
{substanceAdministration classCode="SBADM” moodCode="EVN">
{text Gl k. 4. 1. 8</text>
<{!-= G.k.4.r.8: Dosage Text #2-10 —>
<effectiveTime xsi:type="IVL TS”>
<width value="4" unit="G.k.4.r.6b"/>
{!— G.k.4.r.6a: Duration of Drug Administration (number) #2-10 —>
<!— G.k.4.r.6b: Duration of Drug Administration (unit) #2-10 —>
{/effectiveTime>
<routeCode code="G.k.4.r.10.2b” codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 14”
codeSystemVersion="G. k. 4. r. 10. 2a”>
{!=— G.k.4.1.10.2a: Route of Administration TermID Version Date / Number #2-10 —>
{!=— G.k.4.1.10.2b: Route of Administration TermID #2-10 —>
<originalText>G. k. 4.r. 10. 1</originalText>
<!—= G.k.4.71.10.1: Route of Administration (free text) #2-10 —>
{/routeCode>
{doseQuantity value="10" unit="G.k.4.r.1b"/>
<I-= G.k.4.r.la Dose (number) #2-10 —>
<I-— G.k.4.r.1b: Dose (unit) #2-10 —>
<consumable typeCode="CSM">
{instanceOfKind classCode="INST”>
<{productInstancelnstance classCode="MMAT” determinerCode="INSTANCE”>
{lotNumberText>G. k. 4. r. 7</lotNumberText>
== G.k.4.1.7: Batch / Lot Number #2-10 —>
<{/productInstancelnstance>
<kindOfProduct classCode="MMAT” determinerCode="KIND">
{formCode code="G.k.4.r.9.2b” codeSystem="TBD-DoseForm” codeSystemVersion="G. k. 4.
r.9.2a">
<{!-= G.k.4.r.9.2a: Pharmaceutical Dose Form TermID Version Date / Number #2-
10 —>
<= G.k.4.1.9.2b: Pharmaceutical Dose Form TermID #2-10 ——>
<originalText>G.k.4.r.9.1<{/originalText>
<!== G.k.4.r.9.1: Pharmaceutical Dose Form (free text) #2-10 —>
{/formCode>
</kindOfProduct>
</instanceOfKind>
</consumable>
<inboundRelationship typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="28" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="parentRouteOfAdministration”; >
<value xsi:type="CE” code="G.k.4.r.11.2b" codeSystem="2. 16.840. 1. 113883.3.989.2. 1. 1.
14”7 codeSystemVersion="G. k. 4. r.11.2a">
{I~ G.k.4.r.11.2a: Parent Route of Administration TermID Version Date ; Number
#2-10 —>
{!== G.k.4.r.11.2b: Parent Route of Administration TermID #2-10 —>
<originalText>G. k. 4.r.11. 1<{/originalText>
{!== G.k.4.r.11. 1: Parent Route of Administration (free text) #2-10 —>
{/value>
{/observation>
</inboundRelationship>
< substanceAdministration>
</outboundRelationship2>
<outboundRelationship2 typeCode="SUMM”>
{observation classCode="0BS” moodCode="EVN">
<code code="14" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="cumulativeDoseToReaction”/>
<value xsi:type="PQ” value="10" unit="G.k.5b"/>
<!—— G.k.5a: Cumulative Dose to First Reaction (number) #2 —>
<l-= G.k.5b: Cumulative Dose to First Reaction (unit) #2 —>
{/observation>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
{code code="16" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="gestationPeriod”/>
{value xsi:type="PQ” value="10" unit="G.k.6b"/>
<l-= G.k.6a: Gestation Period at Time of Exposure (number) #2 ——>
<{l-—— G.k.6b: Gestation Period at Time of Exposure (unit) #2 ——>
<. observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
<code code="31" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"
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displayName="recurranceOfReaction”/>
<value xsi:type="CE” code="G.k.9.i.4” codeSystem="2.16.840.1.113883.3.989.2.1.1.16”
codeSystemVersion="2.0",>
<l-—— G.k.9.1i.4: Did Reaction Recur on Re—administration? Drug #2, Reaction #1 ——>
<outboundRelationshipl typeCode="REFR”>
{actReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45F2-a02f-42d4d6F4657F" />
{/actReference>
</outboundRelationshipl>
<, observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="PERT”>
{observation classCode="0BS” moodCode="EVN">
{code code="31" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="recurranceOfReaction”;>
<value xsi:type="CE” code="G.k.9.1i.4” codeSystem="2.16.840. 1.113883.3.989.2.1.1.16”
codeSystemVersion="2.0"/>
<l— G.k.9.1.4: Did Reaction Recur on Re—administration? Drug #2, Reaction #2 —>
<outboundRelationshipl typeCode="REFR”>
{actReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220" />
{/actReference>
</outboundRelationshipl>
< observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR">
{observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="codedDrugInformation” ;>
<value xsi:type="CE” code="G.k.10.r” codeSystem="2. 16.840. 1. 113883.3.989.2.1. 1. 17"
codeSystemVersion="2.0"/>
<!— G.k.10.r: Additional Information on Drug (coded) (repeat as necessary) #2-1 —>
{/observation>
<{/outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
{code code="9" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="codedDrugInformation”,>
<value xsi:type="CE” code="G.k.10.r” codeSystem="2. 16.840.1.113883.3.989.2.1.1.17”
codeSystemVersion="2.0"/>
<l-= G.k.10.r: Additional Information on Drug (coded) (repeat as necessary) #2-2 ——>
{/observation>
</outboundRelationship2>
<outboundRelationship2 typeCode="REFR”>
{observation classCode="0BS” moodCode="EVN">
<code code="2" codeSystem="2.16.840. 1. 113883.3.989.2.1.1.19” codeSystemVersion="1.1"
displayName="additional Information”/>
<value xsi:itype="ST”>G. k. 11</value>
<l-= G.k.11: Additional Information on Drug (free text) #2 —>
<, observation>
</outboundRelationship2>
<inboundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
{code code="19" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="indication”/>
<value xsi:type="CE” code="G.k.7.r.2b” codeSystem="2.16.840. 1. 113883.6. 163" codeSystemVersion=
“G.k.7.1.2a">
{!— G.k.7.r.2a: MedDRA Version for Indication #2-1 —>
{I=—= G.k.7.r.2b: Indication (MedDRA code) #2-1 —>
<originalText>G. k. 7.r.1</original Text>
<!— G.k.7.r.1: Indication as Reported by the Primary Source #2-1 —>
{/value>
<performer typeCode="PRF”>
<assignedEntity classCode="ASSIGNED”>
<code code="3" codeSystem="2.16. 840. 1. 113883.3.989. 2. 1. 1. 21” codeSystemVersion="1.0"
displayName="sourceReporter” />
{/assignedEntity>
<{/performer>
{/observation>
</inboundRelationship>
<inboundRelationship typeCode="RSON">
{observation classCode="0BS” moodCode="EVN">
<code code="19" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1"
displayName="indication”/>
{value xsi:type="CE” code="G.k.7.r.2b” codeSystem="2.16.840. 1. 113883.6. 163" codeSystemVersion=
“G.k.7.r.2a">
<{I== G.k.7.r.2a: MedDRA Version for Indication #2-2 ——>
{I== G.k.7.r.2b: Indication (MedDRA code) #2-2 —>
<CoriginalText>G. k. 7.r.1<{/originalText>
<= G.k.7.r.1: Indication as Reported by the Primary Source #2-2 —>
</value>
<performer typeCode="PRF”>
<assignedEntity classCode="ASSIGNED">
<code code="3" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 21” codeSystemVersion="1.0"
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displayName="sourceReporter”/>

s

Ja />
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codeSystemVersion="1.1"/>
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s
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BHAEAH" />

codeSystemVersion="1.1"/>

{/assignedEntity>
</performer>
{/observation>
</inboundRelationship>
<inboundRelationship typeCode="CAUS”>
<act classCode="ACT” moodCode="EVN">
<code code="G.k.8” codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 15" codeSystemVersion="2.0",/>
{I-= G.k.8: Action(s) Taken with Drug #2 ——>
< act>
</inboundRelationship>
{/substanceAdministration>
</component>
{/organizer>
<{/subject0f2>
<subjectOf2 typeCode="SBJ”>
<organizer classCode="CATEGORY” moodCode="EVN">
<code code="1" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 11" codeSystemVersion="1.0" displayName="7552 DHE

<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3.2.1.10” codeSystemVersion="1.0" displayName="

<value xsi:type="INT” value="1"/>
- 066J2.13.r.1: JRIIEL #1 —>
{/observation>
</component>
<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="8" codeSystem="2.16. 840. 1. 113883. 3. 989.5.1.3.2.1.10” codeSystemVersion="1.0" displayName="

<value xsi:type="ED”>]J2.13.r.2</value>
<l-- 0@@J2.13.1.2: RERH #1 —>
{/observation>
{/component>
<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="9" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2.1.10” codeSystemVersion="1.0" displayName="

<value xsi:type="CE” code="J2.13.r.3” codeSystem="2.16.840.1.113883.3.989.5.1.3.2.1.7”

<1-- @@@J2.13.r.3: PHIEAH #1 —>
{/observation>
</component>
<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2.16. 840. 1. 113883.3.989.5.1.3.2.1.10” codeSystemVersion="1.0" displayName=

<value xsi:type="BL” value="true”/>
<1-- 0@0J2.13.r. 41 BHEPOREFOHE #1 —>
{/observation>
</component>
{/organizer>
<{/subject0f2>
{subjectOf2 typeCode="SBJ”>
<organizer classCode="CATEGORY” moodCode="EVN">

"

<code code="1" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 11” codeSystemVersion="1.0" displayName="755R DAL

<component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
<code code="7" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3.2.1. 10" codeSystemVersion="1.0" displayName="

<value xsi:type="INT” value="1"/>
<1-- @@@J2.13.r.1: JmHiE% #2 -
{/observation>
</component>
<component typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
{code code="8" codeSystem="2.16. 840. 1. 113883. 3. 989.5.1.3.2.1.10” codeSystemVersion="1.0" displayName="

<value xsi:type="ED”>J2.13.r.2<{/value>
<= 000]2.13. 7.2 XEIRHE H2 —>
{/observation>
{/component>
{component typeCode="COMP”>
{observation classCode="0BS” moodCode="EVN">
{code code="9" codeSystem="2. 16. 840. 1. 113883. 3. 989.5.1.3.2.1. 10" codeSystemVersion="1.0" displayName="

<value xsi:type="CE” code="J2.13.r.3” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.7”
<1-- @@@J2.13.r.3: PH¥EAH #2 —>
{/observation>

</component>
<component typeCode="COMP”>
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{observation classCode="0BS” moodCode="EVN">
<{code code="10" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1.10” codeSystemVersion="1.0" displayName=
"SR OIEFIOATEE"/>
<value xsi:type="BL” value="false”/>
<1-- 0@@J2.13.v. 4: HHPOFEFIOAME #2 —>
{/observation>
</component>
{/organizer>
</subject0f2>
</primaryRole>
<{/subject1>
<component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
{code code="20" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="
interventionCharacterization”/>
<value xsi:type="CE” code="G.k.1” codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1. 13” codeSystemVersion="2.0"/>
<{l== G.k.1: Characterisation of Drug Role Drug #1 —>
{subject2 typeCode="SUBJ”>
<productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30-67671b0ef9ed” >
<{/productUseReference>
{/subject2>
{/causalityAssessment>
</component>
<{component typeCode="COMP”>
<causalityAssessment classCode="0BS” moodCode="EVN">
<code code="20" codeSystem="2.16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="
interventionCharacterization”/>
<value xsi:type="CE” code="G.k.1” codeSystem="2.16.840. 1. 113883.3.989.2. 1. 1. 13” codeSystemVersion="2.0"/>
<!— G.k.1: Characterisation of Drug Role Drug #2 —>
<{subject2 typeCode="SUBJ”>
{productUseReference classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce~3b3b—45c7-92dd-69e06730c3a9” />
{/productUseReference>
<{/subject2>
</causalityAssessment>
{/component>
<component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="causality”/>
<value xsi:type="ST”>G.k.9.1i.2.r.3</value>
{1—— G.k.9.1i.2.1.3: Result of Assessment Drug #1, Reaction #1, Assessment #1 ——>
<methodCode>
<originalText>G. k. 9. 1i.2.r. 2{/originalText>
<= G.k.9.1.2.1.2: Method of Assessment Drug #1, Reaction #1, Assessment #1 ——>
</methodCode>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
<{code>
<originalText>G. k. 9.1i.2.r.1<{/original Text>
<— G.k.9.1.2.1. 1: Source of Assessment Drug #1, Reaction #1, Assessment #1 ——>
{/code>
{sassignedEntity>
</author>
{subjectl typeCode="SUBJ”>
{adverselffectReference classCode="0BS” moodCode="EVN">
<id root="154eb889-958b-45f2-a02f-42d4d6f4657f" >
{;adverseEffectReference>
{/subject1>
{subject2 typeCode="SUBJ”>
<productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30-67671b0ef9ed” />
<{/productUseReference>
<{/subject2>
</causalityAssessment>
</component>
<component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN”>
<code code="39" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="causality”/>
<value xsi:type="ST”>G.k.9.1i.2.r.3</value>
<1--G.k.9.1.2.7.3: Result of Assessment Drug #1, Reaction #2, Assessment #1 ——>
<methodCode>
<originalText>G. k. 9.1i.2.r. 2{/originalText>
{)=—G.k.9.1.2.1.2: Method of Assessment Drug #1, Reaction #2, Assessment #1 —>
<{/methodCode>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
{code>
<originalText>G. k. 9.1i.2.r. 1</originalText>
{— G.k.9.1.2.1.1: Source of Assessment Drug #1, Reaction #2, Assessment #1 ——>
</code>
{/assignedEntity>
</author>
<{subjectl typeCode="SUBJ”>
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{adverseliffectReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220" />
{/adverseBffectReference>
<{/subject1>
<subject2 typeCode="SUBJ">
<productUseReference classCode="SBADM” moodCode="EVN">
<id root="3c91b4d5-e039-4a7a-9c30-67671b0cfIed” />
</productUseReference>
</subject2>
</causalityAssessment>
</component>
<component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="causality”/>
<value xsi:type="ST”>G.k.9.1i.2.1.3</value>
{1—6.%k.9.i.2.7.3: Result of Assessment Drug #2, Reaction #2, Assessment #1 —>
<methodCode>
<originalText>G. k. 9. i.2.r.2</originalText>
<)—G.k.9.1.2.1.2: Method of Assessment Drug #2, Reaction #2, Assessment #1 —>
<{/methodCode>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
{code>
<originalText>G. k. 9.1i.2.r. 1</originalText>
<l— G.k.9.1.2.1.1: Source of Assessment Drug #2, Reaction #2, Assessment #1 —>
{/code>
<{/assignedEntity>
</author>
{subjectl typeCode="SUBJ”>
{adverseEffectReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8-4e6c-93e9-5b860b314220" />
{/adverseEffectReference>
<{/subject1>
<{subject2 typeCode="SUBJ]”>
{productUseReference classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce~3b3b-45¢7-92dd-69¢06730c3a9” />
{/productUseReference>
<{/subject2>
</causalityAssessment>
{/component>
<component typeCode="COMP”>
{causalityAssessment classCode="0BS” moodCode="EVN">
<code code="39" codeSystem="2.16. 840, 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="causality”/>
<value xsi:type="ST”>G.k.9.1i.2.r.3</value>
<1-—=G.k.9.1.2.7.3: Result of Assessment Drug #2, Reaction #2, Assessment #2 —>
<methodCode>
<originalText>G. k. 9. i.2.1.2</originalText>
<J==G.k.9.1.2.1.2: Method of Assessment Drug #2, Reaction #2, Assessment #2 ——>
</methodCode>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
<{code>
<originalText>G. k. 9.1i.2.r.1<{/original Text>
{— G.k.9.1i.2.1. 1: Source of Assessment Drug #2, Reaction #2, Assessment #2 —>
{/code>
{;assignedEntity>
</author>
{subjectl typeCode="SUBJ”>
{adverseEffectReference classCode="0BS” moodCode="EVN">
<id root="2baa28d6-c9e8 4e6c-93e9-5b860b314220" />
{;adverseEffectReference>
<subject1>
{subject?2 typeCode="SUBJ”>
<productUseReference classCode="SBADM” moodCode="EVN">
<id root="68d6f5ce-3b3b-45¢7-92dd-69e06730c3a9” />
{/productUseReference>
<{/subject2>
</causalityAssessment>
{/component>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="comment”/>
<value xsi:type="ED”>H. 2<{/value>
<!-= H.2: Reporter’s Comments ——>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
{code code="3" codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 21" codeSystemVersion="1.0" displayName="
sourceReporter”/>
{/assignedEntity>
</author>
</observationEvent>
</component1>
<component1 typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
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/>

<{code code="15" codeSystem="2. 16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="diagnosis”/>
<value xsi:type="CE” code="H.3.r.1b” codeSystem="2.16.840. 1. 113883. 6. 163" codeSystemVersion="H. 3.r. 1a”/>
<I-= H.3.r.1a: MedDRA Version for Sender’s Diagnosis ; Syndrome and / or Reclassification of Reaction / Event #1 —->
<!-= H.3.r.1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA code) #1 ——>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
<code code="1" codeSystem="2.16. 840. 1. 113883.3.989. 2. 1. 1. 21” codeSystemVersion="1.0" displayName="sender”/>
<{sassignedEntity>
</author>
</observationEvent>
</component1>
<component1 typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="15" codeSystem="2. 16. 840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="diagnosis”/>
<value xsi:type="CE” code="H.3.r.1b” codeSystem="2. 16.840. 1. 113883. 6. 163" codeSystemVersion="H.3.r.1a”/>
{]-= H.3.r.la: MedDRA Version for Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event #2 ——>
<]== H.3.r.1b: Sender’s Diagnosis / Syndrome and / or Reclassification of Reaction / Event (MedDRA code) #2 ——>
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
{code code="1" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 21" codeSystemVersion="1.0" displayName="sender”/>
{;assignedEntity>
</author>
<{/observationEvent>
</component 1>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="10" codeSystem="2. 16. 840, 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="comment”/>
<value xsi:type="ED”>H.4</value>
<{!=— H.4: Sender’s Comments —>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
{code code="1" codeSystem="2.16. 840. 1. 113883.3.989. 2. 1. 1.21” codeSystemVersion="1.0" displayName="sender”/>
<{/assignedEntity>
{/author>
{/observationEvent>
</component1>
{component1 typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2. 16. 840. 1. 113883.3.989.5.1.3.2.1.10” codeSystemVersion="1.0" displayName="R5% [ |Z%}4 % =

<value xsi:type="ED”>J2.7.2</value>
<(I-- @00]2.7.2: RETIZXHTHaAL N —>
</observationEvent>
</component1>
<component1 typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="4" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.10” codeSystemVersion="1.0" displayName="J&K¥E >3 &% A7

<value xsi:type="ED”>]2.9</value>
<-- 000]2.9: ERYYEDM M RE —>
</observationEvent>
</component1>
<component1 typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="5" codeSystem="2.16. 840. 1. 113883. 3.989.5.1.3.2.1.10” codeSystemVersion="1.0" displayName="4#% D xt)&"/>
<value xsi:type="ED”>J2.10</value>
<= @eej2. 100 SHDORIS >
</observationEvent>
</component 1>
<component1 typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="6" codeSystem="2.16. 840. 1. 113883.3.989.5.1.3.2. 1. 10” codeSystemVersion="1.0" displayName="- ODfl 2% HIE%%

<value xsi:type="ED”>J2.11</value>
- @eeJ2. 111 FOfBHEEEE —>
</observationEvent>
</component1>
<componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="12" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.10” codeSystemVersion="1.0" displayName="4R%5NZ DL E"

<value xsi:type="ED”>J2.16</value>
<1-- @@eJ2.16: MENADOHEL —>
{/observationEvent>
{/component1>
{componentl typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="13" codeSystem="2.16. 840. 1. 113883.3.989.5.1.3.2. 1. 10” codeSystemVersion="1.0" displayName="fifi&1"/>
<value xsi:type="ED”>J2.19</value>
<I-- @@ej2.19: fHHE1 —>
</observationEvent>
</component1>
<component1 typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
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<code code="14" codeSystem="2.16. 840. 1. 113883.3.989.5.1.3.2. 1. 10" codeSystemVersion="1.0" displayName="fifi&2"/>
<value xsi:type="ED”>J2.20</value>
<I-- 000J2.20: {52 —>
</observationEvent>
</component1>
<component1 typeCode="COMP”>
<observationEvent classCode="0BS” moodCode="EVN">
<code code="15" codeSystem="2. 16. 840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 10” codeSystemVersion="1.0" displayName="{#§#%3"/>
<value xsi:type="ED”>J2.21</value>
- @eeJ2.21: fE3 —>
</observationEvent>
</component 1>
<component1 typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="16" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 10” codeSystemVersion="1.0" displayName="fii#4"/>
<value xsi:type="ED”>J2.22</value>
<l @eej2.22: fi§#E4 —>
</observationEvent>
</component 1>
{/adverseEventAssessment>
</component>
<component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="
additionalDocumentsAvailable”/>
<value xsi:type="BL” value="true”/>
{I=— C.1.6.1: Are Additional Documents Available? —>
{/observationEvent>
</component>
<component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="23" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1” displayName="localCriteriaForExpedited”/

<value xsi:type="BL” value="true”/>
(== C.1.7: Does This Case Fulfil the Local Criteria for an Expedited Report? —>
{/observationEvent>
</component>
<component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="36" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="summaryAndComment” />
<value xsi:type="ED” language="I. 5.r.1b">H. 5. r. la</value>
<{l—— H.5.r.1la: Case Summary and Reporter’ s Comments Text #I —>
<l— H.5.r.1b: Case Summary and Reporter’s Comments Language #1 ——>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED">
<code code="2" codeSystem="2. 16, 840. 1. 113883.3.989.2.1.1.21” codeSystemVersion="1.0" displayName="reporter” ;>
</assignedEntity>
</author>
{/observationEvent>
</component>
<component typeCode="COMP”>
{observationEvent classCode="0BS” moodCode="EVN">
{code code="36" codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1. 19” codeSystemVersion="1.1" displayName="summaryAndComment” />
<value xsi:type="ED” language="H.5.r.1b">H. 5. r. la</value>
{I== H.5.r.1a: Case Summary and Reporter’s Comments Text #2 ——>
<{!—= H.5.r. 1b: Case Summary and Reporter’s Comments Language #2 ——>
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
<code code="2" codeSystem="2. 16. 840. 1. 113883.3.989.2. 1. 1.21” codeSystemVersion="1.0" displayName="reporter” >
{/assignedEntity>
{/author>
{/observationEvent>
</component>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
<code code="1" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1. 22” codeSystemVersion="1.0" displayName="initialReport”/>
{subjectOf2 typeCode="SUBJ”>
<controlActBvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
<code code="C.1.8.2” codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1. 3” codeSystemVersion="2.0"/>
{I-=C.1.8.2: First Sender of This Case —>
<{/assignedEntity>
</author>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code nullFlavor="NA"/>
{subjectOf2 typeCode="SUBJ”>
<controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.r” root="2.16.840. 1. 113883.3.989.2.1.3.2"/>
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<lI-- C.1.10.r: Identification Number of the Report Which Is Linked to This Report (repeat as necessary) #1 —>
</controlActEvent>
{/subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code nullFlavor="NA"/>
{subjectOf2 typeCode="SUBJ”>
<controlActEvent classCode="CACT” moodCode="EVN">
<id extension="C.1.10.1” root="2.16.840. 1. 113883. 3.989. 2. 1.3.2"/>
<l— C.1.10.r: Identification Number of the Report Which Is Linked to this Report (repeat as necessary) #2 —>
</controlActEvent>
</subject0f2>
{/relatedInvestigation>
</outboundRelationship>
<outboundRelationship typeCode="SPRT”>
{priorityNumber value="1"/>
{!— C.2.r.5: Primary Source for Regulatory Purposes #1 ——>
{relatedInvestigation classCode="INVSTG” moodCode="EVN”>
{code code="2" codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1.22” codeSystemVersion="1.0" displayName="sourceReport” />
{subjectOf2 typeCode="SUBJ”>
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT”>
<assignedEntity classCode="ASSIGNED”>
<addr>
{streetAddressLine>C. 2. r. 2. 3{/streetAddressLine>
{l— C.2.1.2.3: Reporter’s Street #1 —>
{city>C. 2. 1. 2. 4</city>
<l— C.2.1.2.4: Reporter’s City #1 —>
{state>C. 2. r.2.5</state>
<= C.2.1.2.5: Reporter’s State or Province #1 —>
<{postalCode>C. 2. r. 2. 6{/postalCode>
<l-= C.2.1.2.6: Reporter’s Postcode #1 —>
{/addr>
{telecom value="tel:C.2.1.2.7"/>
<l-=C.2.1.2.7: Reporter’s Telephone #1 —>
<assignedPerson classCode="PSN” determinerCode="INSTANCE”>
<{name>
<prefix>C. 2. 1. 1. 1<{/prefix>
<l—— C.2.r.1.1: Reporter’s Title #1 ——>
<{given>C. 2. 1. 1. 2<{/given>
<l-—= C.2.7r.1.2: Reporter’s Given Name #1 ——>
<given>C. 2. 1. 1. 3¢/given>
<= C.2.7r.1.3: Reporter’s Middle Name #1 ——>
<{family>C. 2. 1. 1. 4</family>
{l==C.2.r.1.4: Reporter’s Family Name #1 ——>
</name>
<asQualifiedEntity classCode="QUAL”>
<code code="C.2.1.4” codeSystem="2.16.840. 1. 113883. 3.989. 2. 1. 1.6” codeSystemVersion="2.0",/>
(== C.2.r.4: Qualification #1 ——>
</asQualifiedEntity>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="TNSTANCE”>
{code code="C.2.1.3" codeSystem="1.0.3166.1.2.2"/>
{!-=C.2.1.3: Reporter’s Country Code #1 ——>
{/location>
{/asLocatedEntity>
{/assignedPerson>
{representedOrganization classCode="0ORG” determinerCode="TNSTANCE”>
<name>C. 2. r. 2. 2{/name>
{1-=C.2.r.2.2: Reporter’s Department #1 ——>
{assignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>C. 2. . 2. 1</name>
<{!-=C.2.1.2.1: Reporter’s Organisation #1 —>
<{/representedOrganization>
{/assignedEntity>
{/representedOrganization>
<{/assignedEntity>
</author>
{/controlActEvent>
{/subject0f2>
{/relatedInvestigation>
<{/outboundRelationship>
<outboundRelationship typeCode="SPRT”>
{relatedInvestigation classCode="INVSTG” moodCode="EVN">
{code code="2" codeSystem="2. 16.840. 1. 113883. 3. 989. 2. 1. 1. 22” codeSystemVersion="1.0" displayName="sourceReport”/>
{subjectOf2 typeCode="SUBJ”>
<controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
<addr>
{streetAddressLine>C. 2. . 2. 3¢{/streetAddressLine>
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<l==C.2.1.2.3: Reporter’s Street #2 ——>
{city>C.2.1.2.4</city>
{l—C.2.1.2.4: Reporter’s City #2 —>
{state>C. 2. r. 2. 5</state>
<{I-= C.2.1.2.5: Reporter’s State or Province #2 ——>
<postalCode>C. 2. 1. 2. 6</postalCode>
(== C.2.1.2.6: Reporter’s Postcode #2 ——>
</addr>
{telecom value="tel:C.2.1.2.7"/>
<l-=C.2.1.2.7: Reporter’s Telephone #2 ——>
<assignedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>
<prefix>C. 2. 1. 1. 1</prefix>
<l-= C.2.r.1.1: Reporter’s Title #2 ——>
<{given>C. 2. 1. 1. 2{/given>
{l-= C.2.r.1.2: Reporter’s Given Name #2 ——>
<{given>C. 2. 1. 1. 3</given>
<l-= C.2.r.1.3: Reporter’s Middle Name #2 ——>
<{family>C.2.r.1.4</family>
<{l-= C.2.r.1.4: Reporter’s Family Name #2 ——>
{/name>
<asQualifiedEntity classCode="QUAL">
<code code="C.2.r1.4” codeSystem="2.16.840. 1. 113883.3.989.2.1.1.6” codeSystemVersion="2.0"/>
(= C.2.r.4: Qualification #2 —>
<{/asQualifiedEntity>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="INSTANCE”>
<code code="C.2.1.3" codeSystem="1.0.3166.1.2.2"/>
{!-=C.2.1.3: Reporter’s Country Code #2 ——>
</location>
{/aslLocatedEntity>
{/assignedPerson>
<representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>C. 2. r. 2. 2{/name>
{l== C.2.1.2.2: Reporter’s Department #2 ——>
<assignedEntity classCode="ASSIGNED”>
<representedOrganization classCode="0RG” determinerCode="TINSTANCE”>
<name>C. 2. r. 2. 1</name>
{]-=C.2.1r.2.1: Reporter’s Organisation #2 —>
{/representedOrganization>
{/assignedEntity>
{/representedOrganization>
{sassignedEntity>
</author>
</controlActEvent>
{/subject0f2>
{;relatedInvestigation>
</outboundRelationship>
<subject0fl typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<author typeCode="AUT">
<assignedEntity classCode="ASSIGNED”>
<code code="C.3.1” codeSystem="2. 16. 840. 1. 113883. 3. 989.2.1. 1. 7” codeSystemVersion="2.0"/>
<l-= C.3.1: Sender Type —>
<addr>
{streetAddressLine>C. 3. 4. 1</streetAddressLine>
{!=C.3.4.1: Sender’s Street Address —>
<eity>C. 3. 4. 2</city>
¢{!-=C.3.4.2: Sender’s City —>
{state>C. 3. 4. 3< state>
<= C.3.4.3: Sender’s State or Province —>
<{postalCode>C. 3. 4. 4</postalCode>
<= C.3.4.4: Sender’s Postcode —>
</addr>
<telecom value="tel:C.3.4.6"/>
<l— (.3.4.6: Sender’s Telephone —>
<telecom value="fax:C.3.4.7"/>
<!--C.3.4.7: Sender’s Fax —>
<{telecom value="mailto:C.3.4.8"/>
(1= C.3.4.8: Sender’s E-mail Address —>
<assignedPerson classCode="PSN” determinerCode="TNSTANCE”>
<{name>
<prefix>C. 3. 3. 2¢/prefix>
<] C.3.3.2: Sender’s Title —>
{given>C. 3. 3. 3<{/given>
{I--C.3.3.3: Sender’s Given Name ——>
{given>C. 3. 3. 4<{/given>
<{I-=C.3.3.4: Sender’ s Middle Name ——>
{family>C. 3. 3.5<{/family>
<{l--€.3.3.5: Sender’s Family Name ——>
</name>
<asLocatedEntity classCode="LOCE”>
{location classCode="COUNTRY” determinerCode="TINSTANCE">
<code code="C.3.4.5” codeSystem="1.0.3166.1.2.2"/>
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<l-=(C.3.4.5: Sender’ s Country Code ——>
</location>
</asLocatedEntity>
<{/assignedPerson>
<representedOrganization classCode="0ORG” determinerCode="INSTANCE”>
<name>C. 3. 3. 1<{/name>
<]-—=C.3.3.1: Sender’ s Department ——>
<assignedEntity classCode="ASSIGNED”>
{representedOrganization classCode="0RG” determinerCode="INSTANCE”>
<name>C. 3. 2</name>
<I-= (.3.2: Sender’s Organisation ——>
{/representedOrganization>
{sassignedEntity>
<{/representedOrganization>
{/assignedEntity>
{/author>
<{primaryInformationRecipient typeCode="PRCP”>
<assignedEntity classCode="ASSIGNED”>
<assignedPerson classCode="PSN” determinerCode="INSTANCE”>
<name>
<prefix>J2. 18. 2¢/prefix>
<I-- @eej2.18.2: X[FE HEHE —
<{family>J2. 18. 3</family>
<I-- @@eJ2.18.3: ZEHE M —>
{given>]J2.18.4</given>
<I--@eeJ2.18.4: %54 % —>
<{/name>
<{/assignedPerson>
<representedOrganization classCode="0ORG” determinerCode="TNSTANCE”>
<name>J2. 18. 1<{/name>
<J-- @00J2.18.1: ZEH ks —
{/representedOrganization>
<{/assignedEntity>
{/primaryInformationRecipient>
{/controlActEvent>
<{/subject0f1>
<subjectOf1 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.r.1” extension="C.1.9.1.r.2” root="2.16.840. 1. 113883.3.989.2.1.3.3"/>
<= C.1.9.1.r.1: Source(s) of the Case Identifier (repeat as necessary) #l —>
== C.1.9.1.1.2 Case Identifier(s) #1 —>
{/controlActEvent>
</subjectOf1>
<subjectOf1 typeCode="SUBJ”>
{controlActEvent classCode="CACT” moodCode="EVN">
<id assigningAuthorityName="C.1.9.1.1.1” extension="C.1.9.1.1.2"” root="2. 16. 840. 1. 113883. 3. 989. 2. 1. 3.3”/>
== C.1.9.1.1.1: Source(s) of the Case Identifier (repeat as necessary) #2 ——>
{I==C.1.9.1.1.2 Case Identifier(s) #2 —>
{/controlActEvent>
<{/subjectOf1>
<subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="1" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 23” codeSystemVersion="1. 0" displayName="1ichReportType”/>
{value xsi:type="CE” code="C.1.3” codeSystem="2.16.840. 1. 113883.3.989. 2. 1. 1.2” codeSystemVersion="2.0"/>
{!-=C.1.3 Type of Report ——>
{/investigationCharacteristic>
<{/subject0f2>
<subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="2" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1.23” codeSystemVersion="1.0" displayName="otherCaselds”/>
<value xsi:type="BL” value="true”/>
{!= C.1.9.1 Other Case Identifiers in Previous Transmissions —>
{/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="3" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 23" codeSystemVersion="1.0" displayName="nullificationAmendmentCode”/

<value xsi:type="CE” code="C.1.11.1” codeSystem="2. 16. 840. 1. 113883. 3. 989. 2. 1. 1.5” codeSystemVersion="2.0"/>
<l— C.1.11.1: Report Nullification / Amendment —>
{/investigationCharacteristic>
<{/subject0f2>
<{subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="4" codeSystem="2.16.840. 1. 113883. 3. 989. 2. 1. 1. 23" codeSystemVersion="1.0" displayName="
nullificationAmendmentReason”/>
<value xsi:type="CE”>
<originalText>C. 1. 11. 2</original Text>
<{!-= C.1.11.2: Reason for Nullification / Amendment ——>
</value>
{/investigationCharacteristic>
<{/subject0f2>
<subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
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{code code="1" codeSystem="2. 16.840. 1. 113883.3.989.5.1.3.2.1. 12" codeSystemVersion="1.0" displayName="7%3I& 5 (HE&oHEH) />
<value xsi:type="CE” code="J2.1a” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.1” codeSystemVersion="1.1"/>
<I--@eeJj2. 1a: #WHIFS REHE) —
{/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="2" codeSystem="2.16.840. 1. 113883. 3. 989. 5. 1.3.2. 1. 12" codeSystemVersion="1.0" displayName="sRi5HE H" />
<value xsi:type="TS” value="20130107"/>
<I-- @eejz.2.1: WHEHA —
{/investigationCharacteristic>
</subject0f2>
<subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="3" codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2. 1. 12" codeSystemVersion="1.0" displayName="#EHLHE N2+ 52 A
[N
<value xsi:type="ED”>J2.2.2<{/value>
<I—— @@0J2.2.2: WHEH AL a2 b —>
{/investigationCharacteristic>
<{/subject0f2>
<subject0f2 typeCode="SUBJ”>
{investigationCharacteristic classCode="0BS” moodCode="EVN">
{code code="4" codeSystem="2. 16.840. 1. 113883. 3. 989. 5. 1. 3. 2. 1. 12" codeSystemVersion="1. 0" displayName="HIks5 >~ 7 7 />
<value xsi:type="CE” code="J2.3” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.2” codeSystemVersion="1.1"/>
< 000J2.3: PNMERE T T —>
{/investigationCharacteristic>
<{/subject0f2>
<subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="5" codeSystem="2.16.840. 1. 113883.3.989. 5. 1.3.2. 1. 12” codeSystemVersion="1.0" displayName="3R5xf&4 7 7" />
<value xsi:type="CE” code="J2.8.1” codeSystem="2.16.840. 1. 113883.3.989.5.1.3.2.1.6” codeSystemVersion="1.1"/>
(- 0eej2.8.1: WERMEIHT T >
{/investigationCharacteristic>
<{/subject0f2>
<subject0f2 typeCode="SUBJ">
{investigationCharacteristic classCode="0BS” moodCode="EVN">
<code code="6" codeSystem="2.16.840. 1. 113883.3.989. 5. 1.3.2. 1. 12” codeSystemVersion="1.0" displayName="35xf G o DEH" />
<yvalue xsi:type="ED”>J2.8.2<¢/value>
<I-- @@0J2.8.2: WEXEHNDOIHE ——>
{/investigationCharacteristic>
<{/subject0f2>
<{/investigationEvent>
</subject>
{/controlActProcess>
</PORR_IN049016UV>
{l—= Message #1 —>
{I-= Message #2 ——>
<!-= PORR_IN049016UV ——>
<!~ /PORR_IN049016U0V —>
== Message #2 -—>
{receiver typeCode="RCV”>
{device classCode="DEV” determinerCode="INSTANCE">
<id extension="N.1.4” root="2.16.840. 1. 113883. 3. 989.2.1.3.14",>
<{!== N.1.4: Batch Receiver Tdentifier —>
{/device>
{/receiver>
{sender typeCode="SND”>
{device classCode="DEV” determinerCode="TINSTANCE">
<id extension="N.1.3” root="2.16.840. 1. 113883.3.989.2.1.3.13",>
<!~ N.1.3: Batch Sender Tdentifier —>
{/device>
{/sender>
</MCCI_IN200100UVO1>
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